
Wall Mounting
Instructions for
Stationary Units

® InterMetro Industries Corporation
North Washington Street, Wilkes-Barre, PA 18705
For Product Information Call: 1-800-433-2232
Visit Our Web Site: www.metro.com

WALL MOUNTING
INSTRUCTIONS
For Stationary
Starsys™ Units

STATIONARY STARSYS UNITS ARE
TO  BE AFFIXED TO THE WALL OR
FLOOR. Depending on the unit, one
or two wall brackets are provided on
the inside rear panels of the unit. An
optional floor mounting kit (less
mounting screws) can be ordered
under Part No. SX-FLR. No wall
mounting screws are supplied with
the Starsys unit due to the different
types of wall construction. You or
your installer must purchase the
appropriate fasteners suitable for the
wall conditions. Various holes in the
wall bracket can accommodate
screws or fasteners from #10 (3/16)
(5mm) to 1/4 (6mm) inch diameter.
Follow the fastener manufacturer’s
instructions during assembly.

1. Move the unit into the desired location
against the wall.

2. Remove the lower drawers or shelves.
Refer to the user manual for details.

3. Level the unit. Leveling is achieved by
adjusting the screws located in each
corner of the base. This adjustment can
be made with a 1/4" (6mm) flat tipped
screwdriver down through the base.

4. Insert the screwdriver down into a
hole (Fig. 1). By turning the screwdriver
clockwise, the unit can be raised. By
turning counterclockwise, the unit can
be lowered. Unit is shipped with the
leveling feet fully retracted. Unit can
be raised up to 2" (51mm) at each
corner.

5. Remove the upper drawers or shelves
to expose the rear wall bracket (Fig. 2).

Fig. 1

6. Match drill holes through back panel
into wall using the wall bracket as a
template. Refer to the fastener
manufacturer’s directions for the
appropriate drill size.

7. Install fasteners per the
manufacturer’s guidelines.

8. Four (4) hole plugs are supplied with
each unit. Install a plug into each
leveling access hole.

9. Replace all removed components.

Base Replacement Parts:

PART NO. DESCRIPTION

RPF04-202A Qty. (1) Leveling Foot (3/8-16 x 21/2 Lg.)
RPPLUG-4 Qty. (4) Hole Plugs (for 1/2 Diameter Holes)
RPF04-216 Qty. (4) End Cap Screws (#8 x 3/4 Tapping – Taupe HD)
RPF04-247 Qty. (4) Post Mounting Screws (5/16-18 x 11/2 Lg.)

Fig. 2

TM

®

Top of Unit

Bottom of Unit

Rear of Unit

Mounting Holes

Wall Mounting Bracket

INSTRUCTIONS
ASSEMBLY



Instructions de
montage au mur des
meubles stationnaires

®

Fig. 1

Pièces de remplacement de la base:

N°. DE PART DESCRIPTION

RPF04-202A Quant. (1) Patte de mise de niveau (3/8-16 x 2-1/2 long)
RPPLUG-4 Quant. (4) Bouchon (pour les trous de 13 mm; 1/2)
RPF04-216 Quant. (4) Vis de capuchon (#8 x 3/4 taraudeuse – Taupe)
RPF04-247 Quant. (4) Vis de montage du montant (5/16-18 x 1-1/2 long)

Fig. 2

TM

®

LES MEUBLES STATIONNAIRES
STARSYS DOIVENT ETRE MONTES
SUR UN MUR OU AU SOL. En fonction
du meuble, une ou deux pattes sont
fournies à l’intérieur des panneaux
arrière du meuble. Il est possible de
commander un kit de montage au sol en
option (sans les vis de montage),
numéro SX-FLR. À cause des différents
types de constructions de murs, aucune
vis de montage au mur n’est fournie avec
le meuble Starsys. La personne faisant
l’installation doit se procurer les vis
appropriées pour le type de mur. Divers
trous dans les pattes murales permettent
l’utilisation de vis de différents
diamètres, de #10 (5 mm; 3/16 po) à 6 mm
(1/4 po). Pendant le montage, suivre les
instructions du fabricant de la visserie.

1. Amener le meuble à l’endroit désiré
contre le mur.

2. Enlever les étagères ou les tiroirs
inférieurs. Consulter les instructions dans
le manuel d’utilisation.

3. Mettre le meuble de niveau. Pour mettre
le meuble de niveau, régler les vis à
chaque coin de la base. Il est possible de
faire ce réglage avec un tournevis à lame
de 6 mm (1/4 po) passant à travers la base.

4. Insérer le tournevis dans un trou
(fig. 1) et tourner dans le sens des
aiguilles d’une montre pour soulever le
meuble. Tourner dans le sens inverse
des aiguilles d’une montre pour abaisser
le meuble. Le meuble est expédié avec
les pattes de mise de niveau
complètement rétractées. Il est possible
de soulever le meuble de 51 mm (2 po)
à chaque coin.

5. Enlever les étagères ou les tiroirs
supérieurs pour exposer la patte murale
arrière (fig. 2).

D’ASSEMBLAGE
INSTRUCTIONS

INSTRUCTIONS
DE MONTAGE
AU MUR
Pour les meubles
stationnaires Starsys™

6. Aligner les trous du panneau arrière
sur les trous du mur en utilisant la patte
murale comme gabarit. Consulter la
taille de mèche appropriée dans les
instructions du fabricant des pattes.

7. Installer la visserie en suivant les
directives du fabricant.

8. Quatre (4) bouchons de trou sont
fournis avec chaque meuble mural.
Installer un bouchon dans chaque trou
d’accès de vis de mise de niveau.

9. Remettre en place tous les éléments
déposés.

Haut du meuble

Arrière du meuble

Trou de montage

Patte de montage
sur le mur

Bas du meuble

InterMetro Industries Corporation
North Washington Street, Wilkes-Barre, PA 18705
For Product Information Call: 1-800-433-2232
Visit Our Web Site: www.metro.com



Instrucciones de
montaje en el suelo
para unidades fijas

®

Figura 1

Piezas de repuesto de la base:

PIEZA N DESCRIPCIÓN

RPF04-202A Cant. (1) Pata niveladora (3/8-16 x 21/2 largo)
RPPLUG-4 Cant. (4) Tapones para orificios (para orificios de 1/2 diámetro)
RPF04-216 Cant. (4) Tornillos para los extremos (#8 x 3/4 roscado – Gris)
RPF04-247 Cant. (4) Tornillos post montaje (5/16-18 x 11/2 largo)

Figura 2

TM

®

DE ENSAMBLAJE
INSTRUCCIONES

LAS UNIDADES FIJAS STARSYS
DEBEN SER SUJETAS A LA PARED O
AL SUELO. Dependiendo de la unidad,
se proveen uno o dos soportes de pared
con los paneles interiores posteriores
de la unidad. Se puede pedir un kit
opcional para montaje en el suelo (sin
tornillos de montaje), bajo el número de
pieza SX-FLR. No se proveen tornillos
de montaje en la pared debido a los
diferentes tipos de construcción de
paredes. Usted o su instalador deben
adquirir los tornillos apropiados para las
condiciones de la pared. Varios orificios
en el soporte de pared pueden aceptar
tornillos u otras sujeciones con
diámetros desde el #10 (5 mm, 3/16

pulgadas) hasta 6 mm (1/4 pulgadas).
Siga las instrucciones del fabricante de
los tornillos durante el montaje.

1. Lleve la unidad al lugar deseado,
contra la pared.

2. Retire los cajones o estantes
inferiores. Consulte los detalles en los
manuales del usuario.

3. Nivele la unidad ajustando los
tornillos situados en cada esquina de la
base. Se puede hacer este ajuste
usando un destornillador de punta
plana de 6 mm (1/4 pulgadas) hacia
abajo, a través de la base.

4. Introduzca el destornillador hacia
abajo en un orificio (Figura 1). Girando
hacia la izquierda, se puede bajar la
unidad. La unidad se envía con las
patas niveladoras totalmente
contraídas. Se puede alzar la unidad
hasta 51 mm (2 pulgadas) en cada
esquina.

5. Retire los cajones o estantes
superiores para exponer el soporte
posterior de pared (Figura 2).

INSTRUCCIONES
DE MONTAJE EN
LA PARED
Para unidades Starsys™

fijas

6. Sitúe los orificios de perforación en
la pared a través del panel posterior
usando el soporte de pared como
plantilla. Siga las instrucciones del
fabricante de los tornillos respecto al
tamaño adecuado de las perforaciones

7. Instale los tornillos siguiendo las
instrucciones del fabricante.

8. Se proveen cuatro (4) tapones con
cada unidad. Ponga un tapón en cada
orificio de acceso para nivelar.

9. Coloque en su lugar todos los
componentes que había retirado.

Parte inferior de la unidad

Parte superior
de la unidad

Parte posterior de la unidad

Orificios de montaje

Soporte de pared
de montaje

InterMetro Industries Corporation
North Washington Street, Wilkes-Barre, PA 18705
For Product Information Call: 1-800-433-2232
Visit Our Web Site: www.metro.com



® InterMetro Industries Corporation
North Washington Street, Wilkes-Barre, PA 18705
For Product Information Call: 1-800-433-2232
Visit Our Web Site: www.metro.com

L01-312
11/00

Information and specifications are subject to change
without notice. Please confirm at time of order.


